——
llﬁ\\

BC

Oskoyi Ballbearing Company

Crossed Roller Stages (Feeding Screw Design) © X-Axis and XY-Axis © Aluminum Alloy
Crossed Roller Stages (Feeding Screw Design) | 30*30

MX30-AC-18 MX30-AS-18
MY30-AC-18 MY30-AS-18

Unit : mm
Movement . Allowable .
Table ; Feed Travel Per Knob | Straightness . Weight . Surface
b N1 Size PR Position | Stroke Rotation Accuracy Leading (kg) bR Finish
(um) (um) (kgf)
MX30-AC-18 Central
T X-axis - 0.045
isp 1ae Aluminum| Black
30*30 +3.2 50 3 1 )
MY30-AC-18 Central alloy | anodized
XY-axis 0.09
MY30-AS-18 Side

@ site : www.10BC.com (021) 33913364 - 33951660 : wili &)

R4 Email : Borhan772000@yahoo.com (021) 33985603 : u~S3 P4




——
Ilﬁ\\

OBC

Oskoyi Ballbearing Company

Crossed Roller Stages (Feeding Screw Design) © X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 30*30

MX30-AC-18

(37.77)

MX30-AS-18

12

M6x1.0
8-M2x0.4*5L

(46.7 )

‘ 030 ‘ PS1RC-07 PS1RC-07
o=
o O O O
= - = _—d
Teeom @ |° =N
\ ( 54.66 ) | \ (41.41) |
‘ 24 ‘ 4-»2.5%16L
) &
O O @)
N o) o
O O O
MY30-AC-18 MY30-AS-18
E (@]
12 12 12 2
‘ M6x1.0 MX(Y)30-A-18 M6x1.0
8-M2x0.4*5L Mounting Dimensions B 8-M2x0.4*5L
My 0
7\ ~& ) € S
ST liye — 6( © L
y (S -
] o O & frl= - & O O @
i i 1= @ = .
5 4o ¢ @ S [e ¢ e
| =) ]
T o
030
]] PS1RC-07
' / ;f_) PS1RC-07
oo oo [H |J—#&
Faw  wysoacas ‘o
e © oL 1 = o
|

D site : www.10BC

.com

R4 Email : Borhan772000@yahoo.com

(021) 33913364 - 33951660 : Uil o)
(021) 33985603 : xS P




	Page 51
	Page 52

